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Note: This question paper contains two parts A and B.
Part A is compulsory which carries 25 marks. Answer all questions in Part A.
Part B consists of 5 Units. Answer any one full question from ecach unit. Each

quastion carries 10.marks and mayl,avca b, cas sub qucstlons : e

a)  Find lim f(7), if L(f( )) = ’ 2]
ST 4w

b) = F md thc inverse Lapldce T xam Cnm ot L ST s S SH3F

. / . (s+ )(S+) » oo e 5

= dx '

c Find the value of . 2

) [ 2]
d)  Evaluate "O] K (1 —'\‘)m dx. [3]
e) F md t 1¢ area encloecd between the pmabola y=x7 aIld tlw line y=x. 2]

g hnd the maomtudc of'the gradxent ofthe function f ( ), Z)= xpzat (1,0, 2). (2]
\ﬁ)j Find the curl V.

h)  The velocity vector in 2-dimensional field is V *’7\))1% ( ¥y -




3.0)  Find the Lostace Transform of (1) = a4~ ,
\/l
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=3cos3/=11sin3:
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4.a)  Show that f «/tan@ df = " cot@ df) =—
\16
B{(m+1,0)
b)  Evaluate AT 3]
5. Qhow Umt rml (m j: \/> ). m>0. o
3 2_’”." i 3
6. Find the mass, center of gravity and moment of inertia r¢ . e 0 and
origin of a rectangle 0 <x <4, 0<y <2 having the mass 'y fur .
~OR '
1 2=
7. Change the order of integration in J.) ’-? xvdyvdeandint oL 9]
8.a)  Show that div(r”;) =(n+3)r"
rfind grad (diu). | R
9.a)  Show that div (A X B) = B.curl A— A.curl B.
b) Find the gradient of the Scalar function /’C\f,)»‘,:) =x" R 5457
10. "":"'-_Verlfy the uauss s “diverge ¢ theorem for’ FE( e A Mk
over the rectanﬁular paiallelcplp d’0< <a, 0=y <h C; :
OR
11.  Evaluate (J‘)‘xzdx+2ydy—dz by Stoke’s theorem wher ¢ isthe ove o La =0
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